
Maths Group 2 

Week 2 

 

Calculator   



L.I:  To subtract 1 - digit numbers 

 

Solve these numbers using a calculator.  Check your answers using apparatus to 

help you. 

 

Question Answer 
4 - 2 =  
7 - 3 =  
9 - 2 =  
8 - 5 =   
7 - 6 =   
8 - 4 =   
6 - 5 =   

 

 

Now write your own question and ask someone to solve it.  Check their answer 

using a calculator.   

 

 

 

 

 

 



L.I:  To subtract 1 - digit numbers 

 

Solve these calculations using a calculator.  Check your answers using apparatus 

to help you. 

 

Question Answer 
5 - 1 =  
8 - 2 =  
9 - 1 =  
9 - 4 =   
8 - 5 =   
9 - 3 =   
7 - 4 =   

 

 

Now write your own question and ask someone to solve it.  Check their answer 

using a calculator.   

 

 

 

 

 

 



L.I:  To add two numbers and then subtract 

 

Solve these calculations using a calculator.  Check your answers using apparatus 

to help you. 

 

Question Answer 
4 + 2 - 3 =  
7 + 3 - 2 =  
9 + 2 - 1 =  
8 + 1 - 3 =   
7 + 2 - 2 =   
4 + 1 - 1 =   
6 + 3 - 9 =   

 

 

Now write your own question and ask someone to solve it.  Check their answer 

using a calculator.   

 

 

 

 

 

 



L.I:  To subtract numbers and then add 

 

Solve these calculations using a calculator.  Check your answers using apparatus 

to help you. 

 

Question Answer 
5 - 3 + 1 =  
3 - 3 + 3 =  
4 - 3 + 1 =  
2 - 2 + 4 =   
3 - 1 + 5 =   
3 - 2 + 3 =   
4 - 4 +1 =   

 

 

Now write your own question and ask someone to solve it.  Check their answer 

using a calculator.   

 

 

 

 

 

 



Friday Challenge 

 

 

What symbol is missing in these number sentences?  Use your calculator to find 

your answers. 

Question Symbol  
(circle your answer) 

4  ?  1 = 5 +        - 
3  ?  2 = 5 +        - 
1  ?  2 = 3 +        - 
4  ?  1 = 3 +        - 
6  ?  4 = 2 +        - 
7  ?  2 = 5 +        - 
8  ?  2 = 6 +        - 

 


